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No. X A¥H E:D) Ey) figE No. X AZR#H E:D) Ey) %
1 518 S28 =iE % 30,000 WI5&LRIT 51 25238 S46 kM Rk 20,000 W35LRIT
2 Fef S29 A AL 500,000 [ &%R1T 52 523X S46 ) 10,000 Ji BiRfT
3 ZHeft S29 F A 50,000 W35£IRTT 53 5238 S46 ik ER 20,000 WI5LIRIT
4 28X S31 Al FEZ 50,000 W554IRTT 54 F241% S47 HEE BE 20,000 W3BLIRIT
5 8t S31 Ba E— 10,000 Ji BIRIT 55 241X S47 K 20,000 W35LIRIT
6 I S32 EJIl ZER 200,000 i BRIT 56 F24f% S47 BB & 10,000 W55LIRIT
7 $£10% S33 AR BE 10,000 W554IRTT 57 282418 S47 EH X 30,000 W35LIRIT
8 10X S33 EA HB— 20,000 W35LIRIT 58 24 S47 AR i 20,000 W35&LIRIT
9 %10/% S33 =% # 10,000 | &iR1T 59 258 S48 itk #H= 20,000 [LBRIT
10 510X S33 i N 100,000 /= &R1T 60 %268 S49  XH FIT 10,000 W55LERIT
11 21048 S33 Mk =E 20,000 WI5LIRIT 61 %2618 S49 LhEx E— 70,000 i BR1T
12 $11 S34 IR 155 10,000 W55LERIT 62 F261% S49 IR BIZ 10,000 W55LERIT
13 B4 S34 NI AUATS 200,000 & BRIT 63 $26X S49  FEE mE 30,000 W354LRIT
14 $11% S34 2R FEE 20,000 [LBRIT 64 %F261% S49 RN EF 10,000 W554IRTT
15 %1218 S35  ®IJIl #h— 40,000 WI5LIRTT 65 271X S50 E=iF F— 20,000 /& BRIT
16 1248 S35 L =EE 20,000 BD35LRIT 66 $271% S50 S ERA 20,000 [LERIT
17 %128 S35 &Il Fn 20,000 W35LIRIT 67 F271% S50 KE —X 20,000 W35LIRTT
18 128 S35 KRAR B* 100,000 W55LERIT 68 228f% S51 HE ZE 20,000 WI5LRIT
19 %138 S36 BE & 10,000 W55LERTT 69 %28f% S51 i 10,000 W554IRTT
20 138 S36 A2 20,000 JLBRIT 70 %2848 S51 kK A 20,000 JLBRIT
21 1318 S36 LR 183 300,000 i BRIT 71 $288 S51 = B 20,000 /& B8RIT
22 %H131% S36 TR B 20,000 W35L8R1T 72 %2818 S51 ER R 10,000 W554IRTT
23 $131% S36 =8 18 20,000 WI5LIRIT 73 %2818 S51 B &% 20,000 WI5LIRIT
24 %1318 S36 D=V 20,000 W35LIRIT 74 %2848 S51 FMA ET 20,000 W35LIRIT
25 148 S37 tTEB =@ 100,000 i BIRIT 75 2288 S51 EE 1ERER 20,000 W35&LIRIT
26 $141% S37 Al EIE 10,000 | &iR1T 76 29X S52  3EH =R 30,000 W35LIRTT
27 %#144% S37 LA A 10,000 W554IRTT 77 %3048 S53 L EE 10,000 W554IRTT
28 E15(% S38 FIFR B- 100,000 WIBLERIT 78 304X S53 AHE el 20,000 - &RIT
29 1518 S38 B/ Bk 20,000 WI5LRIT 79 %3048 S53 @A BB 20,000 JLBRIT
30 #1158 S38 AR =RE 10,000 W554IRTT 80 %30/% S53  EiE AN 20,000 [LBRIT
31 %158 S38 FH = 20,000 [LBRIT 81 30X S53 BN BF 20,000 WI5LIRIT
32 %158 S38  JIIEA TH 20,000 WI5LRIT 82 $31X S54 MK L& 100,000 W55LERIT
33 158 S38 AT i 20,000 W35LRIT 83 %3148 S54 AR & 20,000 [LBRIT
34 158 S38 HHE B= 100,000 /i &iR1T 84 31X S54 mlE B2 100,000 /=BRIT
35 16X S39 I B 100,000 |z &iR1T 85 311X S54 LY 7 S| 20,000 JLBRIT
36 {17 S40 BB B 100,000 W554IRTT 86 $31X S54 =i HE 20,000 /& B8RIT
37 178 sS40  EA FE 20,000 W35LIRTT 87 32X S55 A2 EE 20,000 WI5LRIT
38 F18X S41 HA FH— 20,000 WI5LRIT 88 #32f% S55 'R &= 30,000 WI5LRIT
39 18X S41 IkHF IE=E 20,000 [LBRIT 89 #3218 S55 EAN B 20,000 L BRIT
40 $H18K S41 BEH EW 20,000 WI5LIRIT 90 #3218 S55 =iF K£E 20,000 JLBRIT
41 19X S42 HEAR B 30,000 [LBRIT 91 %3248 S55 F# &7 20,000 WI5LRIT
42 H20R S43  ERRT B 10,000 W554IRTT 92 $33X S56 2 BA RE 20,000 W35LIRIT
43 F20R S43 FKR EX 10,000 W55LERIT 93 33X S56 EIPF —f& 20,000 W35LRTT
44 F211X S44  KE ER 20,000 W35LIRIT 94 33X S56 NIl KRE 20,000 W35LIRTT
45 F211X S44 TR BA 20,000 B35LRIT 95 34X S57 KEH F— 20,000 [LEHRIT
46 F21R S44 KN Fk 10,000 W55LERIT 96 3418 S57 B Rk 50,000 W35£IRTT
47 F21R S44 AR BT 10,000 W5548RTT 97 %35 S58 HA %R 30,000 /& BRIT
48 221X S45 KI5 HER 10,000 Ji BIRfT 98 3518 S58 Al EE 100,000 JiBIRfT
49 22X S45 FAM FME 20,000 JLBRIT 99 %351k S58 AR BA 10,000 W554ERTT
50 252218 S45 PR B 20,000 W354LRTT 100 #3548 S58  iRME R 10,000 W55LERIT




No. f A¥H E:D) Eiy ) B No. X AZE#HF 280 Eiy) &E
101 #3548 S58 IRE 0V3H 10,000 W554IRTT 151 7148 H31 1 A 10,000 | BiRIT
102 23518 S58 HER FEE 10,000 W55LERIT 152 $711% H31 & FA 20,000 W35LIRIT
103 #3618 S59 FHAR EC 10,000 W5548RTT 153 FE7248 R2 =ik EfH 5000 J&BRIT
104 53618 S59 HE & 20,000 [LBRIT 154 F724% R2 A {E—ER 20,000 /& B8RIT
105 %3648 S59 KR —t& 20,000 W35LRTT 155 HSAREN KE NEF 10,000 | &iR1T
106 23618 S59  REB A 10,000 | &iR1T 156 ' HSAFBN HH Ex 10,000 | &iR1T
107 %3618 S59 E=H EEXR 20,000 /& B8RIT 157 HHEIABNT RE FF 10,000 [~ BRIT
108 23618 S59  fEA Tk 20,000 W35LIRTT 158 JFHHEIABN @il FF 10,000 | &iR1T
109 371X S60 BEER BF 20,000 WI5LIRIT 159 FHHEIABN R 27 10,000 | BiR1T
110 %3718 S60  KF [&F 20,000 W35LIRIT 160 SHHEIARBN B | 10,000 = BRTT
111 23818 S61 [ Aft 40,000 | EBiRIT 161 LAZ=£ 84 400,000 [ BR1T
112 38K S61 F1R BBiE &% 20,000 W35LIRIT 162 FTHYNAAkO 10,000 | B&iR1T
113 253818 S61 s AA 20,000 /& BRIT 163
114 #3818 S61 /B F— 20,000 JLBRIT 164
115 £5381% S61 FE 100,000 WH5LERIT 165
116 £538f% S61 hIR MHE 20,000 W35LIRIT 166
117 23818 S61 1M/KN BT 20,000 JLBRIT 167
118 %39 S62 L £t 40,000 W55LERIT 168
119 %39% S62  ®IHE {&E 100,000 Ji BIRIT 169
120 239X S62 s HAE 40,000 |- BRIT 170
121 $411  H1 e Fah 20,000 W354LRIT 171
122 414X H1 =N B 20,000 & BER1T 172
123 411X H1 TE 158 10,000 W5543RTT 173
124 $421% H2  #BE Bx 10,000 W554IRTT 174
125 421X H2 FE RIE 20,000 W35LIRTT 175
126 421X H2 AE = 10,000 W5543RTT 176
127 %4418 H4 g B 10,000 i BIRIT 177
128 448 H4e MBI B2 20,000 B35L3R1T 178
129 441X H4 HA —5K 20,000 JLBRIT 179
130 441X H4 OB 20,000 [LBRIT 180
131 54418 H4 wE 5= 20,000 /& BR1T 181
132 2451 H5 B = 20,000 WI5LRIT 182
133 461X H6 FE 2 20,000 [LBERIT 183
134 461X H6 T Mt 20,000 [LBRIT 184
135 24618 H6 FH =£= 20,000 /& B8RIT 185
136 %4618 H6 XH B 10,000 WIELIRTT 186
137 247X H7  JIIA #0189 10,000 | &iR1T 187
138 481X HS8 JBH 5h3 20,000 = &R1T 188
139 %494% H9 =Y 20,000 W35LIRIT 189
140 49X H9 MWE EFEE=F 10,000 W5543RTT 190
141 $528 H12 Hibh =t 10,000 | BiR1T 191
142 E52% H12 W K- -BE 20,000 W35LIRIT 192
143 55X H15 HRBH #B= 10,000 = BRIT 193
144 F651% H25 MLk =X 10,000 = BIRIT 194
145 %658 H25 &K FE 20,000 W35LIRTT 195
146 %6518 H25 B4 AN 20,000 JLBRIT 196
147 266X H26 Tl l=-EM 20,000 /& BRIT 197
148 FE67/X H27 MEH AL 20,000 W35LIRTT 198
149 $678 H27 AR KEE 20,000 199
150 7148 H31 A #X 20,000 W35LRTT 200
A& HET 5,525,000
B EERES 330,338
WDI5LIRE K& -8,236
HEEA5 5,847,102




